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         ��य �व�ा�थ �य�,
           इस यहाँ वष� 2016 म � अंकग�णत
परी�ण के अंतग�त आए इस �� म � समीकरण
का �नमा�ण कर उसको हल कर क�मत �ात
करने से संबं�धत �� को हल करके बताया
गया है। य�द इस तरह के ��� का बार बार
अ�यास करते ह � तो आप 1 �मनट से कम
समय म � �� को हल कर पाने म � स�म हो
पाय �गे।
           अ�यास हेतु यह �� यहाँ �दया गया
है। � ै��टस पेपर से आप ऐसे ��� को बार-बार
हल कर � ता�क परी�ा म � सही समय पर (एक
�मनट के अ�दर) �� को हल कर सक� । आइए
देखते ह � �� -                  
                         अंकग�णत
�नद�श - ��येक �� के �लए 4 संभा�वत उ�र
ह � �जसम � एक, दो, तीन और चार �म �दया है। 



केवल एक सही है। आप सही उ�र पर सही
उ�र पु��तका म � �� के आगे �दए बा�स
अं�ेजी सं�या म � �लख� ।
 (51)- एक जुराब  के जोड़े का मू�य एक टोपी
के मू�य से �गना है य�द 5 जुराब के जोड़� का
मू�य 1,250 है तो 2 जोड़ी जुराब तथा चार
टोपी का कुल मू�य �या होगा ?
1 - 1,050               2- 1,000
3- 950                    4- 1,250
हल- माना एक टोपी का मू�य ₹ x  है।
 ��ानुसार - जुराब का मू�य होगा =2x
 5 जोड़ी जुराब का मू�य =
  5 ×( 2x) = 1,250
  10x = 1,250
  x = 1,250 ÷ 10
  x = 125
  हमने टोपी का मू�य x �पए माना था अतः
एक टोपी का मू�य ₹125 �आ
  एक जोड़ी जुराब का मू�य टोपी के मू�य से
दोगुना है अथा�त 2x है तो = 125 × 2 = 250
  1 जोड़ी जुराब = ₹ 250 
  जब�क 1 जोड़ी जुराब का मू�य ₹250 है।
  इस�लए 2 जोड़ी जुराब का मू�य = 
           250 × 2 =500



   जब�क एक टोपी का मू�य ₹125 है। 
    इस�लए चार टोपी का मू�य =
            125×4=500
     अतः 2 जोड़ी जुराब और चार टोपी का
     मू�य होगा = 500 + 500 = 1000
      उ�र = ₹ 1000
      
      Question Paper of Navodaya
Vidyalay Entrance Test Arithmetic
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Question And Solving)
      
Dear students, 
                     Here arithmetic in year
2016, in this question under test, it
is explained by solving the question
related to finding the price by
constructing the equation and
solving it. If you practice such
questions repeatedly, you will be
able to solve the question in less
than 1 minute.
       Here is the question for
practice. With the practice paper
you should solve such questions
repeatedly so that you can solve the 



question at the right time (within 1
minute) in the examination. 
       Let us see the question.
       
                   Arithmetic 
 Direction:-  There are four possible
answer for each question. Which is
ranked one, two, three and four.
Only one is correct. You should
write in the correct answer book in
the English number the box next to
the question.
 
 51.  The value of a pair of nudes is
twice the value of a cap. If the value
of 5 pair of pairs is 1,250, what will
be the total value of the two pairs of
socks and four hats?
 (1) 1,050                    (2) 1,000
 (3) 950                       (4) 1,250 
 Solution :- Let the value of a cap be
                     x.
  According to question- the value of
nudes will be = 2x.
  5 pairs of nudes =
  5 ×(2x) = 1,250
  10x = 1,250



  x = 1,250 ÷ 10
  x = 125 
  We assumed the value of the cap
to be to be x rupees,
 the value of a cap was 125.
 The value of a pair of nudes is
twice the value of the cap ie 2x if 
 = 125 × 2 =250
 Pair of nudes = ₹250
 While the value of one pair of
nudes is 250. 
 Hence the value of two pair nudes=
 250 × 2= 500
 While the value of a cap is ₹125.
 So the value of four hats =
 125 × 4 = 500
  Hence the value of two pairs of
nudes and four hats  will be
  = 500 + 500 = 1000
   answer = ₹ 1000
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